
Unité 1 – séance 3 

1. Calcule : 

3 pour aller à 10 : _____ 8 pour aller à 12 : _____ 

4 pour aller à 13 : _____ 5 pour aller à 15 : _____ 

7 + 6 = _____ 4 + 9 = _____  

8 + 9 = _____ 6 + 9 = _____  

14 - 8 = _____ 16 – 9 = _____  

2. Complète. 

 2 € = …………. c 3 € 10 c = …………. c  

 1 € 20 c = …………. c 3 € 50 c = …………. c 

 2 € 5 c = …………. c 5 € 25 c = …………. c 

 170 c = …………. € …………. c   

 350 c = …………. € …………. c 

 25 c = …………. € …………. c 

 275 c = …………. € …………. c 
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Rappel :  

1 euro = 100 centimes 1 € = 100 c 
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